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12. The vectors ¢ and b have magnitudes 3 and 5,
respectively. The angle between the vectors 1s 130°.
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Determine the magnitude of the \‘ectorl» a x 4;}
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13. Paul pulls on a rope attached to his sleigh with a force
of 60 N. If the rope makes an angle of 15° with the

horizontal, determine the force that pulls the sleigh
forward.
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4. An airplane heading south has an airspeed of 600 km'h,
when it encounters a wind from the east at 150 km/h.
How long does 1t take the airplane to travel 900 km?
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19. Determine the value of & such that the vectors (1, 2, 1)
and (k, 2k + 1, 8) are perpendicular.
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The parallelogram ORST 15 formed by the vectors
G'R (2,-1,4) and OS (3.-2,1). A line 1s drawn
from the point R perpendicular to the side ST. It
intersects the segment ST at the point 4. Determine the
length of RA.
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